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1. (20 points) - In this question, you will solve a boy or girl paradox problem. Martin

Gardner prepared this question in 1959 and published in Scientific American.

a) Mr. Jones has two children. Given that the older child is a girl, what is the
probability that both children are girls?
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b) Mr. Smith has two children. Given that at least one of them is a boy, What is the
probability that both children are boys?

2. (20 points) In this question, you will analyze the probability events in a dice-game
Suppose you have 4 dices each with 6 side,

a) How many different possible outcomes are possible if you roll 4 dices?
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b) Given that all 4 numbers are expected to be different, how many different
outcomes are possible?
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c) What is the probability of getting at least 2 numbers same if you roll 4 dices?
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